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� �ل:           ( 3) ( 3 ( 9))− × + = −  

  ��اء 
�د�� %$#� ��" ا���رة )2
  

      
  
� �ل           :( 4) ( 5 ( 20) )− × +− )        ؛         = 2) ( 6 ( 12) )+ × ++ =  

�*(�)�ت                           :( 2) ( 16)(−8)× − = +      
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� �ل             :( 7) 9 ( 7) ( 63)− × 9 = × − = −          
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-��� بbو ��aاء ��د�� ������ ������ :  .�� �	��  : a b× أو   .a b   أوab  

�01/�ت  : 
  
  
  
 
  

+� �):           أ 5) 6 5 ( 6) (5 ) 30− × = × − = − × 6 = −  
                                       ( 4) 4 12− ×(−3) = × 3 =  
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� �ل            :                [ ] [ ]( 4) ( 4)− ×3×(−5)×(−1) = − ×3 × (−5)×(−1)  

                                                    ( 12)= − ×(+5)  
                                                              ( 60)= −          

+�,��1:  
  
  
  

� �ل            :             ( 2,5) ( 2,5)− × 3,57×(−4)×(−10) = − ×(−4)× 3,57×(−10)  

                             [ ]( 2,5)= − ×(−4) ×3,57×(−10)  

                                          ( 10)= + × 3,57×(−10)  
                                                    ( 100)= − × 3,57  

                                                             (= −3,57)  
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aد	0        : ���ي ����  � 0a a× 0 = × =   
                                   1a a a×1 = × =  

                         ( 1)a a a×(−1) = − × = −  
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.��,�� �	اء �	ة أ�	اد ����' ����'  ادا ����0 /�/�
 ��ا � -  
 

  :  �	دان �����ن �����ن 45نb وa آ�ن � #"
               ) ( ) ( )×(− = − × = − ×a b a b a b  

                                  ( )− ×(− ) = ×a b a b  
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) ا�!�اء -:  � �+أ            7) ( 3) ( 7) ( 9)− × − ×8× − ×5× − × � ا�����%  ��د 	$�# �ن ��د2
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. أن:         � �ل   �  ( 7) 3 ( 21)− × = ) ه$ �2رج 3:   إدن− 21)− 4
� ( :     أي−(7
21

3
7

−=
−

  



. أن �                   ( 3) ( 15)− ×(−5)= ):   إدن+ ) ه$ �2رج −(5 15)+ 4
� (  :  أي−(3
15

5
3

+− =
−

  

+�,��3    
  
  
  
  

+/01�   8 �7$ن دا�56 ��دا ����� ������2رج ��د�� ������ ������:  1

:               	��ل
22

3,142857142857142857.....
7

− = −
���������

   9�� ���ي ����

+/01�2:  
  
  
  
  
  

  
2( 6��7� ا%���89 وا%

 �=>;� ا�:�رج   :1     � �ل
22

7

−
   :  0,0001 إ�4 

    �=���     :
22

3,142857142857142857.....
7

=
���������

  

     <>;�� ا�:�رج 
22

7
:  0,0001 إ�4 

22
3,1428 3,1429

7
< <  

<>;�� ا�:�رج      
22

7

−
:  0,0001 إ�4 

22
3,1429 3,1428

7

−− < < −  

 �=>;� ا�:�رج   :2     � �ل
8

11−
   :  0,001 إ�4 

    �=���     :
���

8
0,727272.....

11
=  

<>;�� ا�:�رج      
8

11
:  0,001 إ�4 

8
0,727 0,728

11
< <  

<>;�� ا�:�رج      
8

11−
:  0,001 إ�4 

8
0,728 0,727

11
− < < −

−
    

    ���� �	دا��� �5ن ه	ا ا�:	اء �;�ن:	اء �	ة ��ا 7 زو�ادا آ�ن �	د ا��8ا 7 ا�����'  -
  ادا آ�ن �	د ا��8ا 7 ا�����' �:	اء �	ة ��ا 7 �5د�� �5ن ه	ا ا�:	اء �;�ن �	دا ����� -

a و b  <�&= دان �����ن �����ن	�0a ≠.  
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